1. Monopoly – Fathom File Monopoly
Outline below – emphasize movable line, show squares, lsrl & the influential “team” of Reading RR, Water Works & Short Line RR.

2. Law of Large Numbers – Fathom File Law of Large Numbers
Define an attribute Trial (Trial Number).

Define an attribute Result (which is a random success/failure [1,0] linked to a slider p).

Display a Line Scatter Plot of (Trial, Result)


Nice look at “Streaks”. (Law of Small Numbers).

Define an attribute Cumulative Successes.
Define an attribute Prob (Cumulative Probability).

Draw scatterplot of  (Trial, Cumulative Probability).

Create slider n that is used to filter trials. (to animate the results)


Nice look at Law of Large Numbers (settling into the “truth”).
3. Sampling Distribution of the Mean & The Central Limit Theorem – Fathom File CLT.

Create a Random Population.
Draw samples (size n – defined by a slider)

Collect measures – sample mean (Xbar), sample size (defined by the slider)


Repeat with different sample sizes: 2, 5, 10, 15, 20, 30, 50

Display scatterplot of (sample size, Xbar) – with sample size categorical

Overlay normal probability functions on the scatter plot.
Display summary table with attribute Xbar

Illustrate the means are “equal” and the standard deviation decreases as the sample size increases.

From the summary table, Create Collection from Cells.

Display scatterplot of (SampSize, S1 (standard deviations of Xbar))

Define attributes logSampSize and logS1
Display Scatterplot of (logSampSize, logS1) to see if the power transformation fits– should be linear!

Find LSRL – take note of coefficient of logSampSize – should be close to -.50 – this is the exponent of the power transformation

 
- so 
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, the constant turns out to be the standard deviation of the population – so 
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Is There an Association Between Spaces From Go and Property Cost? 
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	Property
	Spaces from GO
	Cost

	Mediterranean Avenue
	1
	60

	Baltic Avenue
	3
	60

	Reading Railroad
	5
	200

	Oriental Avenue
	6
	100

	Vermont Avenue
	8
	100

	Connecticut Avenue
	9
	120

	St. Charles Place
	11
	140

	Electric Company
	12
	150

	States Avenue
	13
	140

	Virginia Avenue
	14
	160

	Penn Railroad
	15
	200

	St. James Place
	16
	180

	Tennessee Avenue
	18
	180

	New York Avenue
	19
	200

	Kentucky Avenue
	21
	220

	Indiana Avenue
	23
	220

	Illinois Avenue
	24
	240

	B & O Railroad
	25
	200

	Atlantic Avenue
	26
	260

	Ventnor Avenue
	27
	260

	Water Works
	28
	150

	Marvin Gardens
	29
	280

	Pacific Avenue
	31
	300

	North Carolina Avenue
	32
	300

	Pennsylvania Avenue
	34
	320

	Short Line Railroad
	35
	200

	Park Place
	37
	350

	Boardwalk
	39
	400


1. Draw a scatterplot of (Spaces From Go, Cost).
2. Does there appear to be an association between the two variables?
3. Find a “Line of Best Fit” – y = mx+b.
Movable Line/Show squares/Show LSRL
4. What does b represent? What does m represent?
5. Are there any unusual points? What are they?
Emphasize the role of the influential “team” of the 2 railroads & the utility that twist the LSRL.

6. Predict the cost of a “new” property that is 50 spaces from Go.
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